#include <stdio.h>
#include <math.h>
int main(void)

{
FILE * fileout;

int x,t,Nt;
double rho[1060],newrho[1000]1,D,norm;

fileout=fopen("slughorn.txt","w"); Bad V\u-}a?}wv\ S) e

printf("\nEnter D*dt/dx~2 "); “_,w,J//uu

scanf("%lf",&D); . <&—

printf("\nEnter number of time steps ");

scanf("%sd",&Nt);

for (x=0; x<1000; x=x+1) ‘
rho[x]=0.0; ‘.ht:h&,\\%r}.’hw’\ ) ke Yo Yo

} SO

rho[500]=1.0; . m Kegler

for (t=0; t<Nt; t=t+1)
{ ' i@e);) \m\h\m \@@
for (x=1; x<999; x=x+1)

norm=0.0; .
for (x=1; x<999; x=x+1)

rho[x]=newrho[Xx]; &—=— v eset for ravl ouc.
norm=norm+rho[x]; €¥£“2;h y\yi* poss
rosgh leop
printf("\n checking no particles are lost! norm= %8.31LTf ",norm);

}
for (x=0; x<1000; Xx=x+1) ;
fprintf(fileout,"\n %6d %8.41f",x, rho[x]);

fclose(fileout);
printf("\n");
return 0;
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newrho[x]=rho[x]+D*(rho[x+1]+rho{x—1]—2.Q*rho[x]);¥§ \QWVT*Kgg
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